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33 AlQle dMEs X
Chel: ZAMOl AYSAl U A Ust (cre:xigl)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
asfsel K 2,139,000 810,000 1,329,000
301 LEtE N = 20,000 0 20,000
14 IIEt2d3 20,000 0 20,000
Oo12l Aaze Is28e A&
20,000,000& x 14 20,000
306 EX= 1,516,000 450,000 1,066,000
01 £g= 1,516,000 450,000 1,066,000
OFLNUBSEME BEMUA MW 0/LE
2(2017~2022) 850,000,000 *14] 850,000
O EEESHE EEMR MHE MAEA
=(2023~2027) 516,000,000 * 14 516,000
O4d80 S8ld Sd25 &4
150,000, 0002141 150,000
307 QIZHOIH 603,000 330,000 273,000
04 DIZFHAFAI 2 X 30,000 30,000 0
OAMTOIO] & FAAS
30,000,000 * 14! 30,000
08 OIXtE2& = 573,000 300,000 273,000
OAd82 ESUHE O AKX
573,000,000 » 14 573,000
CHRASH slYdeds XA A 175,000 134,400 40,600
=S 52,500
Al 122,500
307 @12t01 & 175,000 134,400 40,600
== 52,500
Al 122,500
02 B AAHE L 175,000 134,400 40,600
O etR4EH 32 dels XA
175,000,000 * 14| 175,000
= 52,500
Al 122,500
4B A K2ME 2E 73,316 72,111 1,205
101 @12A4H| 57,476 57,411 65
04 JIZtN22 XS 2+ 57,476 57,411 65
OHdH JIZEM(AIRE) el 31,411
—Jl2=s 2,567,400~ 1E 1104 E 28,242
—=0le= 28,241,400 184 . 5% 1,271
—2AZEE 28,241,400 ~1H+3.545% 1,002
—ILEE 1,001, 1582« 12 *12.81% 129
—1I=E2E 28,241,400 x18*1.75% 495
— & HEE 28,241,400 18 +0.962% 272
OdlE! JIZHM(8)) =24l 26,065
—Jl2= 2,130,400« 1H* 112 23,435
—=td= 23,434, 4003 x 18 %4 5% 1,055
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—1I=2E 23,434,400+ 18 +1.75% 41
—AHES 23,434,400 18 +0.962% 226
201 er23 | 15,840 14,700 1,140
01 At2telt] 13,620 13,080 540
OXaBUAASAZEEH 24 13,620
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—S A SRz 170,000& 12042 2,040
—us, AEE, 82 MY S
700,000& 12902 8,400
—dJ| EX= 45,0008 1204 540
2 s5=34l 2,220 1,620 600
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—Stes=s 60,0002 «12& 720
—&J| !RANE=s 500,000 32 1,500
AHetAga 243 N3 A 38,296 21,367 16,929
= 11,489
s 7,659
Al 19,148
301 22N = 38,296 21,367 16,929
= 11,489
= 7,659
Al 19,148
4Bt 2as 38,296 21,367 16,929
OFeAgA gdst A3 At
38,296,000 * 14! 38,296
= 11,489
= 7,659
Al 19,148
20234 CINE AaE0 18 28 XA 108,000 0 108,000
== 40,500
Al 67,500
307 212+01& 108,000 0 108,000
< 40,500
Al 67,500
02 2IZHB A E & 108,000 0 108,000
OCUXNE 24500 1oreky X3
108,000,000 12 108,000
= 40,500
Al 67,500
SAE & &8 293 3,133,009 3,563,399 430,390
= 290,000
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-85 35,672,000&*1.75% 625
- AEH 1,264,5803*12.81% 162
— e 35,672,000 0.962% 344
OMUZ JI2HAI ol24bl(ZHl, &) 63,866
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—AIZHel 4
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201 B2 AY| 155,049 137,816 17,233
01 AR2teld| 34,581 21,981 12,600
OHAEE S MII2Y Hol 24257
400,000& *12& 4,800
OAdE 22| 22 22
918,000& =12 11,016
OgEU=E 0l =25 500,000 14! 500
O=AD| dE =2 170,000& 123 2,040
OF=)| dE =2
35,2002 x2CH+ 122 845
OLYNE BY 442 990,00024+23] 1,980
02l 80 B o FA+42
200,000 %43 800
OAEZSoHEY Ua AIEE &) &
6,300,000 »x23| 12,600
02 324l 120,468 115,835 4,633
oAz 1,200,000& * 12& 14,400
O&IIR2 5,000,000& *12& 60,000
Oiot=ER23 1,000,000& =123 12,000
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OFolZY 8% 442
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OFIIOHERIR| (3 442
650,000 * 122 7,800
OFie! XA 2IZE KXl
26,0002 122 3,192
Ogors 89 448
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OAld= Rl =48I 1,000,000 +82] 8,000
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O==2AE UM & RXNE=>
20,000,000 *14! 20,000
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M E N

M Agle FHES K
ool MEAIE U AR} 243 (Hol: &)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
-z 5,000,000 <22} 10,000
—Orst 10,000, 000& »23] 20,000
02 S3=gHl 167,968 146,408 21,560
OXY, Otstd Aot S3ald|
288,0002 %12 288
O, Ot A5t & eIHY MER
200,000 122 2,400
OTSAE &I AEE(THR)
6.,500,0002 * 12& 78,000
OUSAME ot AZB2(THA)
3,000,000& ~12& 36,000
OZNERES(ZE, OFHE 20 4H4)
2,800,000& %12 2,800
OusSKRLFIS(2E, o)
2,900,000& %12 2,900
OR%, OtHE A2 FXZeld
200,000 64 2x23] 2,400
OSTEAIE 0BHI0IE € JI2S &I 8=
200,000 * 122 2,400
OSEANE dlot= AIEZ
40,0002 128 480
O, 01 d2HlI=x fFE2
17,000,000 *20H 2= 34,000
OO0t ZE2ACIANAE AMEx=
25,0002~ 12 300
oottty &t M| AE=
500,000 1294 & 6,000
202 04| 3,360 3,600 A240
01 2K 3,360 3,600 A240
OHSAIE g22ed =& 04|
60,0002 x4 x 143 3,360
203 HR=H] 1,000 1,000
03 A=A R =NH] 1,000 1,000
OHSAY o A&} 245 42 £X
1,000,000 %14 1,000
207 ARl 36,000 36,000
01 Sl 36,000 36,000
O2025 Z&,0t3 Y HIl=2 +=&28txlel &
IRIEES 10,000,000 * 14! 10,000
02025 =EH| 2= SZ2AE Atd Etgd o
—E 26,000,000 * 14 26,000
301 EtE N = 785 835 A50
11 dALEBIXNIE S 785 835 A50
OR=AY 2&z #t 785
—RAYX= 785,000 12 785
307 @I2t01 & 522,000 526,000 24,000
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S AlRI9 AXEs X3
Hel: dSAE & AFI 243t (SH9 H2)
SA - BB 9(B) - NIRA - BaS ol ke G o HlmS2
02 QIRHE L&A B X 22,000 22,000 0
OAIZZZE HH™ KI2A
11,000,000 274 2 22,000
05 QIZtRIErZ 500,000 504,000 24,000
OXIANE AMSE HIISXE =2
41,666,6003 12 500,000
401 Al HIZL S 0HY| 276,000 742,000 A466,000
01 Al&HI 276,000 742,000 A466,000
ONSAME N4 R B
2,500,000& 123 30,000
ONESNEF B14E X2 ZL3TA
6,000& *1,000m 6,000
OO0E F 5 E= HEALS
170,000,000& 12| 170,000
OOlHE YBES 24 Y&IA
70,000,000& *12] 70,000
ZSE Set MSAE 2435 74,000 130,000 256,000
307 QI2HO1 M 74,000 130,000 256,000
02 QIZHAAAIEE R 70,000 126,000 A56,000
O=&=Z =00l A
10,000,000 %13 10,000
OO0}HE OIS 29 60,000,000 14! 60,000
04 QIZIHATAIE B & 4,000 4,000 0
O EAIE &tOtE AL
4,000,000 *13] 4,000
HEANE SHSH LK 12,000 12,000 0
& 6,000
Al 6,000
307 gI2Hol ™ 12,000 12,000 0
& 6,000
Al 6,000
06 2832 12,000 12,000 0
OVEAIZ SUZH 2&E K=
4,000,000 30 2~ 12,000
= 6,000
Al 6,000
ADIE MSAE 2= AIHAIE 136,000 0 136,000
& 68,000
Al 68,000
307 QI2Hol ™ 136,000 0 136,000
= 68,000
Al 68,000
02 QIZHAAAIHE X 136,000 0 136,000
OALIENMSAIE 2= AIHAIZ
136,000,000 14 136,000
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Hel: dSAE & AFI 243t (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
< 68,000
Al 68,000
HSAT AL SOBA(SFAE SSHHY A2 800,000 0 800,000
Ab)
= 480,000
Al 320,000
401 Al HIZ S 0HYI 800,000 0 800,000
== 480,000
Al 320,000
01 Al&HI 800,000 0 800,000
OSZNY BSHNY ALBA
800,000,000& *14] 800,000
== 480,000
Al 320,000
JIZBS HAAS - XA XA (0FHE) 580,000 0 580,000
= 290,000
Al 290,000
401 Al HIZ S OHbI 580,000 0 580,000
= 290,000
Al 290,000
01 Al 580,000 0 580,000
OorE 2 &
580,000,000& x14] 580,000
= 290,000
Al 290,000
XA HSAE(SHAIZ) AEIHEAIS 50,000 0 50,000
= 50,000
401 Al HIZL S 0HYI 50,000 0 50,000
& 50,000
01 AlZ2H| 50,000 0 50,000
OATAME ANEHH(SEXHNES)
50,000,000& »14! 50,000
< 50,000
=HAl HSAIE(0FE) AEMHSAS 30,000 0 30,000
=S 30,000
401 Al HIZL 2018 30,000 0 30,000
= 30,000
01 AlZ8| 30,000 0 30,000
OO0t E AlEIHA 30,000,000 *14! 30,000
[ 30,000
AR HBM 243t 1,761,811 2,919,722 1,157,911
s 789,350
s 199,710
Al 772,751
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M S0
A2l HBHM 2dst
ARIEEN 28 =4

el EERE)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
ARIHEH =2 |4 1,761,811 2,919,722 1,157,911
= 789,350
== 199,710
Al 772,751
AZIEDIY SH (MDY 2RelEE XIH) 820,700 1,733,334 A912,634
= 615,525
=S 41,035
Al 164,140
307 21201 & 820,700 1,733,334 N912,634
[ 615,525
= 41,035
Al 164,140
02 2B YAIHE A 820,700 1,733,334 A912,634
OARIZIIE LRI EAY
820,700,000 %12 820,700
[ 615,525
= 41,035
Al 164,140
ABIEDIY |H(M20E XIZAY) 98,500 208,000 109,500
[ 73,825
= 4,935
Al 19,740
307 elzto| & 98,500 208,000 109,500
[ 73,825
= 4,935
Al 19,740
02 2B YA HE X 98,500 208,000 109,500
OARIH)IY 82018 X3 AY
98,500,000 x 14 98,500
= 73,825
& 4,935
Al 19,740
M HZHOIY D=3 XA 10,800 10,800 0
= 3,240
Al 7,560
402 2I2FX=01 & 10,800 10,800 0
=S 3,240
Al 7,560
02 RIENEASEZ(0IETHR) 10,800 10,800 0
OARI BB HMDIE D=3 XIZAE
10,800,000 * 104 2 10,800
< 3,240
Al 7,560
ARIE BRI AlEEHl XA 185,000 165,000 0
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ARIEEN 28 =4

29: (Erel: a2
SA - ZE . BR() - HRAR - BES of v G o HIDE2
< 46,500
Al 108,500
402 QIF X201 & 165,000 165,000 0
= 46,500
Al 108,500
02 QI A2 AL E R (0IHTHE) 155,000 185,000 0
OAtIHIIE Al€&dl XId
155,000,000 *14] 155,000
=S 46,500
Al 108,500
OHS01Y SE(HARE) 200,000 200,000 0
= 100,000
= 30,000
Al 70,000
307 @120l & 200,000 200,000 0
[ 100,000
= 30,000
Al 70,000
02 2B YAIHE A 200,000 200,000 0
O0I2718 SHAI (HetFd) 200,000
—1XE T Al 50,000,000 *2JH 2 100,000
[ 50,000
= 15,000
Al 35,000
—2XEE WX E 30,000,000 *2JH 2 60,000
[ 30,000
= 9,000
Al 21,000
—3XE T 1NxE 20,000,000 #2012 40,000
[ 20,000
= 6,000
Al 14,000
Or201g |S4(8g€ oldl) 12,000 20,000 /8,000
== 6,000
Al 6,000
307 212+01™ 12,000 20,000 28,000
[ 6,000
Al 6,000
02 IHB A HE L 12,000 20,000 /8,000
O0271g SEAIL(HZE olbl)
12,000,000 *10H 2~ 12,000
= 6,000
Al 6,000




2A:

M E N

33 ARIEBN gdat
Rl ARIFEN XA |4 EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
oElld S4(=3E) 36,000 48,000 A12,000
307 elztol & 36,000 48,000 212,000
02 2B YA E X 36,000 48,000 /12,000
OontEl1e |4 AMH(=3E)
12,000,000 *39H 2= 36,000
ARl HEH X2 145,200 89,750 55,450
201 et 3| 100,760 84,660 16,100
01 At 2|l 55,760 49,660 6,100
OAIHEH 27 =& S|
8,000& x4 x152« 128 5,760
OA2IH M JIEHS 22 2L
5,000 x200% 1,000
OAt2X AN JIEHS 88 cIZ23!
3,000 *500% 1,500
OMI BB NELSAES =8
100,000& x10E ~42] 4,000
OMIHBN SEXA Aedat
1,000,000 *200H 2~ 20,000
OAIZB MDY EH2E 91%”@%
, 100,000 *209H 2 22,000
O=370 243 A3s
1,500,0002 %12 1,500
2 352484l 25,000 15,000 10,000
ORZMEIHAUZH NLHLEols =g
2 15,000,000& * 13l 15,000
OAld= =& R
1,000,000+ 100 & 10,000
03 A2 I 20,000 20,000 0
OABIHZR 2+ JISSAF U Hetab| 2
mel 20,000,000 *13] 20,000
202 04| 3,780 4,320 2540
01 =LHA LI 3,780 4,320 A540
Olts, AtX)1Y 883
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